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1. 37Jjtk ABCD — EFGH % Fifii PQR TYIi L 72\». AP:PD=1:1%2 AQ:QB=1:2%2»2BR:RF=2:1 :75%.
KD & 9 IHEF,EH,EA #EE L, ¥l PQR £ DR EZZNEFNX,Y,Z £T5%. S5ICXYEUFG,GH LR EZEZNT
NS, T, YZELUDH LXK %EUET 3. (S#e15745%, A3%, BAT408, CH74)
(1) PQ // TS LM AT 2 DD DM AER Eicd 5. FTilSE ) #HHOTETEZ K.

(2) DU:UH%R® k.
(3) AN PQRSTU 1& AZXY DI DflfE 7>,
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2. itk ABCD — EFGH % Vi PQU THIWiL 72\, AP:PD=2:122AQ:QB=1:1»2DU:UH=1:2 &£ T 3.
TRI?D & 5 IAEF,EH, EA ZIERE L, i PQU L DR HZZNZENX,Y,Z £ T2, E5ICXYEUFG,GH Loz Zzh
FNS, T, ZX £IBF L DXMi%ZR T 3. (S#1740%, A34r, B4 408, C#74)
(1) QR J/ UT B FATR 2 DDy ORI GREKT 2 ® 2. VATRLS ) 2 TR TEZ L.

(2) BR:RF %k k.
(3) NI PQRSTU & AZXY DEE D MG 7.
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1. 37Jjtk ABCD — EFGH % Fifii PQR TYIi L 72\». AP:PD=1:1%2 AQ:QB=1:2%2»2BR:RF=2:1 :75%.
KD & 9 IHEF,EH,EA #EE L, ¥l PQR £ DR EZZNEFNX,Y,Z £T5%. S5ICXYEUFG,GH LR EZEZNT
NS, T, YZELUDH LXK %EUET 3. (S#e15745%, A3%, BAT408, CH74)
(1) PQ // TS LM AT 2 DD DM AER Eicd 5. FTilSE ) #HHOTETEZ K.

(2) DU:UH%R® k.
(3) AN PQRSTU 1& AZXY DI DflfE 7>,
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* BBEDTH> DA A=Y
(1) > FTEHIZFTR = QR /UT &t RS/ PU

(2) MIFEROIDOEZIE6 LT L. bro TV SMITORES % IRy TR 2 &,
PA=PD=3 AQ=2 BQ=4 BR=4 FR=2 <«%IicEZAL.

AAZQ o ABRQ ©» AFRX = ZA =2 XF =2

AFXS=AAQP = FS=3 = GS=6-3=3

AGTS=AFXS = TG=2 = TH=6-2=4

AHTY» AGTS = YH=3x2=6

AUDP «» AUHY MHBUL UD:UH=DP:HY =3:6=1:2

(3) (2)»56, UH=6x 125 =4 kDX IIlbroroRIzHEAL !

142

* ERLLISHALLEED 2
ST ZEXYO ST 0 ZAQP =90 REXS o= 310 UHTY
Mkl ZE:ZA:RF:UH=(2+6):2:2:4=4:1:1:2
= AZXY : AZQP: ARXS: AUTY =42 :12:12: 22 =[16]:[1]:[1]:[4]
ko TNl PQRSTU = [16] - ([1)+ 1]+ [a]) =[10] = [10]+[16]— > f&
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2. itk ABCD — EFGH % Vi PQU THIWiL 72\, AP:PD=2:122AQ:QB=1:1»2DU:UH=1:2 &£ T 3.
TRI?D & 5 IAEF,EH, EA ZIERE L, i PQU L DR HZZNZENX,Y,Z £ T2, E5ICXYEUFG,GH Loz Zzh
FNS, T, ZX £IBF L DXMi%ZR T 3. (S#1740%, A34r, B4 408, C#74)
(1) QR J/ UT B FATR 2 DDy ORI GREKT 2 ® 2. VATRLS ) 2 TR TEZ L.

(2) BR:RF %k k.
(3) NI PQRSTU & AZXY DEE D MG 7.
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* BBEDTH> DA A=Y
(1) *FETEHIBFETHR = PQ/TS &t RS//PU

(2) VHERDO—UDES%E 6 LT 2. broT0A ST ORES % WA TR 2 &
PA=4 PD=2 AQ=BQ=3 DU=2 HU=4 < XXIcHZAL.

AZAP o AUDP »» AUHY = ZA =4 YH =4

AHTY=AAQP = TH=3 = TG=6-3=3

AGTS = AHTY = SG=4 = SF=6-4=2

AFXS» AGTS = FX=3x3=15

ARBQ »» ARFX #HfUMt RB:RF=BQ:FX=3:15=2:1

() (225, RF=6x 15 =2 *LDXIichbpokfyoikszH it
* ETELLIEAELED 2 F
“ATVZEXYP AT ZAQP =M 7\ RFXS =3\ UHTY
MHE ZE:ZA:RF:UH=(4+6):4:2:4=5:2:1:2
= AZXY :AZQP: ARXS: AUTY =5%:22:12:22 =[25]:[4]:[1]:[4]
ko Tfal PQRSTU = [25) - ([a]+[1]+[4]) =[16] = [16]+[25)- = 1
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